Appendix F. Examine Dionysius Thrax.

Dionysius Thrax purportedly wrote Zhe Art of Language in the late second
century BC from Alexandria. This makes it the earliest existing work on Greek
grammar. Dionysius was a student of Aristarchus of Samothrace, the chief li-
brarian at Alexandria.! Dionysius shows familiarity and particular interest in
the works of Homer.

The Art of Language analyzes pronunciation, word formation, parts of speech,
the syntactical relationships between words, and word function for the ancient
Greek language. Dionysius is interested in the intersection of these separate
topics.

The preface states that intended purpose includes the application of gram-
mar for producing and reciting both narrative and poetic works.

While discussing the phonology of the alphabet, Dionysius relates the let-
ters to their role in identifying gender of things and forming tense of actions.

Examine his special vocabulary.

ypaupatixn /anguage is the analysis of composition and word choice.

momTal work or composition is the literary product of an author.

mpoowidia pronunciation is the oral expression of sounds, accents, breathings,
and pauses.?

amédoatg definition is the standard meaning of spoken and written words.®

A molyua poem is text verse with rthythm and meter, whether sung or spoken.

oUyypapua story is a written objective narrative.® Unlike poetry, it does not
have rhythm or meter.

avayvwals reading is enunciating a written text verbally.

1. This analysis will not address hypothetical pseudipigraphical origins of 7be Art of Language. The subject is not germane to this
discussion. No conclusions about the question are assumed.

2. Kemp and Davidson acknowlege that Dionysius addresses breathings, vowel length, syllable length, and word formation. However,
extensive sections of Zhe Art of Language address phonology, including pronunciation. This is the likely meaning of mpoowdic.

3. The ‘explanation of obscure words’ (Kemp) is better translated with the familiar synonym ‘definition’.
4. Story is a less formal name than prose, or even worse, prosody.
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Examine Dionysius Thrax.

Tovog accent is the verbal emphasis of a word syllable using pitch, or the
corresponding mark in written text. This differs from modern English accent,
which uses volume for emphasis more than pitch.

oTVywy) punctuation is a pause in speech, or the corresponding mark indicat-
ing the pause in written text.

paywidla rapping is the public performance of reading poetry.®

A arotyeiov character is an elemental written figure. It is a synonym of letter.

A ypappa letter is a member of the alphabet. It is a synonym of character.

A dwviev vowel is a sound spoken without closing the throat, teeth, or lips,
or one of the corresponding written letters. Vowels can stand by themselves as
a complete syllable, unlike consonants.

A oidBoyyog double vowel, double sound, or diphthong, is multiple vowels form-
ing a single, composite sound, or, the corresponding letters.®

A gipdwvov consonant is a sound spoken while closing the throat, teeth, or
lips, or, one of the corresponding letters.

A nuldwvov soff consonant is a sound spoken while only partially closing the
throat, teeth, or lips, or, one of the corresponding letters.

A ddwvov hard consonant is a sound spoken while completely closing the
throat, teeth, or lips, or, one of the corresponding letters.’

A OwmA& double consonant is a sound joining multiple consonants into one,
or, one of the corresponding letters.

A cuMapn sy/lable is a combination of sounds that forms one sound unit. A
syllable contains at least one vowel sound joined with some consonants.

A ¢wwy sy/lable can represent another synonym for cuMa3y syllable.

A Né&ig word is a group of sounds forming a single, complete unit of mean-
ing, or, the corresponding letters.

Adyos speech is the vocal utterance of words.

A uépy part of speech is a category of word types used in language, includ-
ing things, articles, substitutes, modifiers, actions, qualifiers, connectors, or
emotions.

A Svopa rhing, or noun, regards a physical substance or a concept.

An pijua action, or verb, expresses a personal conduct.

5. Rhapsody (Kemp, Davidson) is an obscure term. Rapping is the current and popular form of rhapsody. Modern rap is closely related
to the rhythm of the performance of poetry, just as with Dionysisu’s persepctive of rhapsody. Rapping is part of the common English
vocatublary, and it is the best word that corresponds to rhapsody. It also has the advantage of being a homonym of rhapsody.

6. Diphthong is a transliteration, but a poor description. These vowel combinations are double.
7. Hard and soft are the best way to characterize the difference between consonants that are complete and partial stops.
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Examine Dionysius Thrax.

A petoxy participle converts an action into a thing.

An &pBpov article clarifies the type of reference of a thing.

A avtwvupla substitute, or pronoun, stands in the place of a thing.

A mpdBeaig direction, or preposition, expresses a direction between an action
and a thing.

A émippnua gualifier, or adverb, modifies an action or another qualifier.

A oOvdeapos connector, or conjunction, joins words, phrases, or sentences.

TTWTIXOV inflection is word-formation by modifying a stem joined with pre-
fixes and suffixes.

Yévy gender assigns a word to a class that corresponds either to dpoevixéy
male, BnAvxOV female, or 00OETEPOY neutral.

elon origin is the source of word formation, either mpwtétumov original or
mapdywyov derivative.?

oxfuatae form is the composition of a word, either amAodv plzin, chvbetov
composite, Or TapaacOVBeTov relation.

GpOuol number is the quantity, whether évixég single, ovixés double, or
TANOuVTINGS multiple.

nmtwoels case is the relationship of a thing to the action of the sentence,
whether 8p0Y) subject, yevixn possessive, 00T indirect object, aiTiatixy direcs object,
or XANTIXY address.

€l0n use can also refer to the function of a word. This is distinct from its
meaning regarding word origin. The use describes the syntactic role of the
word related to other words in the sentence.

A éyxigeig mood expresses the reality of an action, whether opioTinn szaze-
ment, TPOTTARTINY order, EORTINY wish, OF VTOTAXTINY possibility.

owbécelg agency, or voice, refers to the relationship between the subject and
an action, whether évépyeia active, mabog passive, ueadtyg intensive.

mpéowma person identifies the subject of the action, whether the mp&Tov /i7ss
person narrator, the dglTepov second person addressee, or the tpitov 75ird person
under discussion.

8. Kemp and Davidson call €{dn species. However, Dionysius's explanation and examples relate to the source of word-formation.
Source is more descriptive, common, and familiar.
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Examine Dionysius Thrax.

xpovol zime identifies the moment of the action relative to the moment of
narration, whether éveatwg presens, mapeAnivles pass, or wéMwy future.?

There is a ouluylar relation morphologically between certain tenses,
that is, éveat@tog presens and mapataTiedv imperfect, mapaxeluevov perfect and
UTepauvTéAIXOY pluperfect, and GopioTov aorist and wéMovta future.®

9. ltis clear that Dionysius considers actions to inflect grammatical time. First, there is his choice of the name xpévor ‘time’. Then,
there is his description of the characteristic in three scopes of time, present, past, and future. Dionysius knows that there are six
different tenses, because he names them. However, he sees the main difference in the grammatical category as separating the
tenses into groups by relative time. His failure to mention aspect does not require that Dionysius would deny the existence of
aspect. However, it does make it likely that he thinks that the role of time trumps that of aspect.

10. These pairs share common features of stem formation. Present and imperfect use the base stem. Perfect and pluperfect use
reduplication. Aorist and future employ a final-o. There might be other similarities, but stem formation is the only common
characteristic.
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Examine Dionysius Thrax.

TEPL YPAUUATIXTS.
Ypaupatiny oty umelpla TRV mapa momTals Te xal cuyypadelow wg éml TO
TOAD Aeyopévawv. pépy 0t adTHc éoTwv €
Tp&TOV QVayvwals EVTpLPNs xata mpoowidiav.
delTepov EENynois xatTa ToUG EVUTApYOVTAS ToWTiRoUS TPOTOUS.
TpiTov yAwoo®v Te xal ioToplév mpbyelpos amo00TLS.
TETQPTOV ETUKOAOYIAG EUPETLS.
TEUTITOV avaAoylag EXAoYITOS.
ExToV xplois TOUATWY. 6 08 XAAMTTOV 0TI TAVTWY TGV €V THL TEXVNL.

TEPL AVALYVWTEWS.

Qvayvwols 0Tl TOWUATWY 7} CUYYPARUATOY AOLATTWTOS TPodopa.

avayvwoTtéov 0t xal’ Uméxplol, xatd mpoowidiay, xaTd OlATTOAY. EX UEV Yap
Tiig Umoxploews THY dpeTV, éx 0t THig TpoTwidiag TV TEYXVNY, Ex O THS OlaaToATs TOV
TEPLEXOUEVOY VOUY OpliLeV.

va ™y pév tpaywidiay Npwixlds avayvéuey, ™y 0t xwpwdiay PruTixds, Ta
0t édeyela Ayuplis, T 08 Emog eDTOVWS, THY 08 Auplxny Tolnoy Euuelds, Tolg 0F
olxToug VPELUEVWS Xal YOoEPES.

TQ Yyap K Tapa THY TOUTWY YIVOUEVR TTApATNPYTLY xal Tag TEY ToTRY ApeTAs
xaTapplmTEL. xal Tag ESels TRV dvaylyvwoxdvTwy xaTayeAdoTous TaploTyo.

\ 4
TEPL TOVOV.
TéVOS €0 TV AN ols dwviic évappoviov xate dvdtacty év THt é&elat. N xatd
Spariopdy &v it Bapeiat. i xata Tepixdacy &v Tt meploTWUEVNL.

TePL TTIYUTS.
oTiypal eiot Tpels: Telela, wéay, VTOTTIYUN.
1. %) pév Telela oTIyun E0TL dlavolag ATNPTICUEVY)S TYUELOV.
2. néam Ot anpelov mvelpaTos Evexey TapadapuPavorevov.
3. UToOTTIYUY) 0% Otavolag unOETw ATNPTIoUEVNS AAN ETL EvOeolong ayueiov.
Tivl Oladépel oTiywy) UmooTiyudis; ypdvwt. &V wev yap THt oTiyudit moAY TO
didoTyua. &v 0¢ THt Voo TIyusit TavTeAls SAlyov.

mepl pabwioiag.
papwidia EoTl népog mouatos EumepletAndds Tiva vmdbeaiy. elpnTat 0t pabwidic
olovel paBdwidie Tig oboe, &md Tol dadvivi pdBdwL mepiepyopmévous &idety TG dunpou
mompaTa.
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Examine Dionysius Thrax.

Examine language.
Language is the study of how authors both form works and also compose
using many words. Language has six aspects:
First, read carefully with correct pronunciation.
Second, follow the standard methods of composition.
Third, speak and know the standard word definitions.
Fourth, discover word origins.
Fifth, parse word paradigms.
Sixth, analyze written works. This is the most beautiful skill.

Examine reading.
Read poetry or narrative with flawless delivery.
Read with expression, pronunciation, and clarity. Use excellent expression,
correct pronunciation, and a clearly focused mind.
Read a tragedy with heroicism, a comedy with popularity, a funeral song
with intensity, a tale with vigor, a musical poem with harmony, and a lament
with a soft tone and mourning.

Failing to observe these matters shows contempt for skilled writing. It
causes the reading process to sound ridiculous.

Examine the accent.
Accent is the change of pitch. It rises with the acuze. It lowers in the grave. It
alternates with the circumylex.

Examine punctuation.
There are three punctuation marks: a period, a colon, and a comma.
1. A period marks the end of a complete thought.
2. A colon marks a dependent clause.
3. A comma marks an incomplete thought. It is a phrase.
What is different about the punctuation of a comma? It differs by time. The
pause for other punctuation is longer. The pause for a comma is quite short.

Examine rapping.
Rapping is a performance of part of a poem. Performers call it rapping be-
cause of the walking stick they carried around while singing the poems of
Homer.

Examine language. Page 549.
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Examine Dionysius Thrax.

TepL aTOLYEIOV.
ypappata oty eixogitécoapa amo Tol a wéxpt Tol w. ypappata 0 Aéyetal ol
T ypappals xal fuopais Tumolabat ypabal yap t0 Eboar mapd Tois madatols, ¢ xal
map ounpwl:
viv 0¢ W émypaag Tdpoov modds elyeat aliTws.

T& 0t alTa xal oTouyele xadelTal Ot TO Exew oTolydv Tva xal Tagw.

TOUTWY GWYNEVTA EV E0TIY EMTA" ¢ € %) L 0 U w. dwuyevTa 08 AéyeTat, 6Tt duwyny
ad’ EquTEy ATOTEAEL.

TGV 0t dwynévTwy paxpa peév EoTt 0Uo* 1 xal w. Ppayéa 0o € xal o. diypova
Tpla: ot v. dlypova O¢ AéyeTal émel éxtelveTal xal CUTTEMETAL.

TPOTAXTING GWVNEVTA TIEVTE' ¢ €7 0 W. TPOTAXTIXG O& AEYETAL 6TL TPOTATTOUEVEL
70D 1 xal v cUN Py dmoTelel, olov at av. dmoTaxTixd d0o* t xal v. xal To U ¢ évidTe
TPOTAXTIXOV €0 Tt TOU 1, (g év TAL pula xal dpmuia.

didboyyor 0¢ elawv €& at av el ev ot ou.

cOpdova 8¢ Ta howma émtaxaidexa fy o0 xAuvEmp ot d x Y. ciudoval
0t 8T1 adTa pev xab’ éauta dwviy odx Exel, CUVTAOTEUEVR OF LETE TGY GWVNEVTWY
dwyny AmoTeAEL.

ToUTWY Npidwva wév ot dxtw (&Y A kv p 0. nuidwva 8¢ Aéyetal, 811 Tap’
8oov NTTOV TAY dwvnévtwy eddwva xabéoTyrey v Te Tolg Luypols xal arypols.
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Examine Dionysius Thrax.

Examine the written character.
There are twenty-four letters progressing from « ‘alpha’ to w ‘omega’. The
letters are composed of lines and marks. From ancient times, ypaat ‘writing’
meant marking, for example, Homer,

You boast, but you barely émypayags ‘grazed’ the sole of my foot.*

They call them crowyeia ‘haracters’ because many have agtolydv ‘vertical? or
horizontal lines.

There are seven vowels: a ‘alpha’, € ‘epsilon’, y ‘eta’, 1 ‘iota’, o ‘omicron’, v ‘up-
silon’, and w ‘omega’. They call it a dpwvyevta ‘vowe” because each can compose
an independent ¢wvny ‘syllable’ by itself.?

There are two /ong vowels: 1 ‘eta’ and w ‘omega’. There are two shor7 vowels:
e ‘epsilon’ and o ‘omicron’. There are three alternate vowels: a ‘alpha’, 1 ‘iota’,
and v ‘upsilon’. They call them «a/zernate because they can become long or short.

There are five vowel prefixes: a ‘alpha’, € ‘epsilon’, n ‘eta’, o ‘omicron’, and w
‘omega’. They call them pr¢/ixes because they can combine with 1 lota’ or v ‘up-
silon’, for example, at ‘alpha iota’ or av ‘alpha upsilon’. There are two posz/ixes: t
‘iota’ and v ‘upsilon’. Even v ‘upsilon’ can combine with 1 ‘iota’, for example, pvia
‘fly’ or apmuia ‘hurricane’.

There are six vowel combinations: au ‘alpha iota’, av ‘alpha upsilon’, &t ‘epsilon
iota’, v ‘epsilon upsilon’, ot ‘omicron iota’, and av ‘omicron upsilon’.

There are seventeen consonants: 3 ‘beta’, y ‘gamma’, 0 ‘delta’, { ‘zeta’, 6 ‘the-
ta’, x ‘kappa’, A ‘lambda’, p. ‘mu’, v ‘nu’, § xi’, w ‘pt’, p ‘tho’, ¢ ‘sigma’, T ‘taw’, ¢
‘phi’, x ‘chi’, and ¢ ‘psi’. They call them adudovar ‘consonants’ because cannot
form ¢wvny ‘syllables’ by themselves. A consonant must join with a vowel when
producing a syllable.*

Eight consonants are soft: { ‘zeta’, § ‘xi’, Y ‘pst’, A ‘lambda’, . ‘mu’, v ‘nu’, p
‘tho’, and ¢ ‘sigma’. They call them #uidwva o/’ consonants because they make
a eldwva ‘sweeter’ connection between vowels, either with humming or hissing.

1. Homer, lliad, 11.32. The word émypaag ‘graze’ is spelled like ypaag ‘write’. Dionysius uses some poetic license by connecting
cognate but unrelated words.

2. aroweia ‘character’ is spelled like oToiyov ‘horizontal’

3. dwvievta ‘vowel is spelled like pwviv ‘sound’. A vowel is independent because it can stand as a syllable by itself, unlike a
consonant. So, ¢wvny means ‘syllable’.

4. Again, pwvv means ‘syllable’.
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Examine Dionysius Thrax.

ddwva 0¢ éoTv évvéa By d x T 0 & x. ddwva 0t Aéyetal, 6Tt pdMov TGV EMwy
goTlv xaxbdwva, domep ddwvov AEYOUEY TOV Tpaywlddy TOV xaxddwvov.
ToUTWY YLAa név ot Tpias x T T. dadéa Tpiar B & x. wéoa 0& TolTwY Tpia: By 0.
néoa 0t elpytal 6Tt TEV wév YIAGY éoTt daaiTepa, TGV 0t daotwy YLAdTepa. xal
goTL TO wev B péoov Tol m xal d. TO 0t y wéoov Tol x xal x. TO 0t 0 wéoov Tol B xal
T.
avtioTotyel 08 T dacéa Toig YiAols. T@L wév m o b, oUTwg:
ama pot gld’ 6m Eayes iwv edepyea vija.
TG 0F % TO X
adTiy’ 6 wév xAalvay Te x1téva Te EVWuT 80UTTES.
70 0¢ O Tt T
&g Edal’, of 0° dpa TAVTES AxNy EYEVOVTO TLWTHL.
€71 OF TGV qupndwvwy SImAd wév et tplar (& . dimhd d¢ elpytat 8ti &v ExaoTov
adTEY éx dVo cupndwvwy alyxetal. 16 wev { éx Tol o xal 0. 0 0¢ & éx Tod x xal o.
76 08 Y éx Tol m xal 0.
auetafora Téooapar A 1 v p. auetafora 0t Aéyetal 6Tl oU peTafaMel év Tolg
UEMovTL TAV pnuatwy oVt év Tals xAloeot T@Y dvopdtwy. T& 0¢ adTd xal Uypa
xaeiTal.

TEMXQ APOEVIXEY OvopATwY QuemexTaTwy xatT €elbelay xal vixny mTdaty
N~ 4 ¥ 7 ~, 4 A 4
oTowyeld éoTt mévte' v € p o Y, olov Olwv dotvié véoTwp Tdpls TENOY.
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Examine Dionysius Thrax.

Nine consonants are hard: 8 ‘beta’, y ‘gamma’, 0 ‘delta’, x ‘kappa’, 7 ‘pi’, T
‘tau’, 0 ‘theta’, ¢ ‘phi’, and y ‘chi’. They call them &dwva hard’ because they make
a xaxédwve ‘rough’ sound between vowels. So, we describe hard consonants as
tragic or closed.

Three hard consonants are unbreathed: x ‘kappa’, m ‘pt’, and T ‘tau’. Three are
breathed: 0 ‘theta’, ¢ ‘phi’, and x ‘chi’. Three are partial: § ‘beta’, y ‘gamma’, and
0 ‘delta’. They call them parzia/ because they exhale more than the unbreathed,
but they are more mute than the breathed. 3 ‘beta’ is between 7 ‘pi’ and ¢ ‘phi’. y
‘eamma’ is between x ‘kappa’ and y ‘chi’. 0 ‘delta’ is between 7 ‘tau’ and 6 ‘theta’.

Consonants can convert from a breathed to an unbreathed. For example, a
m ‘pi’ can become a ¢ ‘phi’,

L4

Now pot eld’ 8t ‘tell me, where’ did you put your nice boat when you
arrived?®

A x ‘kappa’ can become a x ‘chi’,

Oddyseus aitiy’ 6 pév yAaivav ‘immediately put on his cloak’ and
undergarment.®

A T ‘tau’ can become a 0 ‘theta’,

¢ €pab’, ol 0° dpa mavres ‘When he spoke, they all’ became completely
silent.’

Three consonants are double: { ‘zeta’, £ ‘xi’, and ¢ ‘psi’. They call them dimAé
‘double’ because each joins 0vo ‘two’ consonant sounds. { ‘zeta’ joins ¢ ‘sigma’
with § ‘delta’. £ xi’ joins x ‘kappa’ with ¢ ‘sigma’. { ‘psi’ joins 7 ‘pi’ with ¢ ‘sigma’.

Four consonants are fixed: A lambda’, p ‘mu’, v ‘nu’, and p ‘tho’. They call
them dypetafolra ‘/xed’ because they do o0 petafaMet ‘not change’ in the future
tense of the verb, nor in the thing declension of a thing. Some also call them
/iguid consonants.

Five consonants can end mascu/ine things: v ‘nd’, § ‘xi’, p ‘rtho’, o ‘sigma’, and
Y ‘pst’, for example, diwv ‘Dion’, doivi§ ‘Phoenix’, véatwp ‘Nestor’, mdpig ‘Paris’,
and méAoy ‘Pelops’.

5. Homer, Odyssey, 9.279. The letter 7 converts to a ¢ before a vowel with rough breathing.
6. Homer, Odyssey, 5.229. The letter x converts to a x before a vowel with rough breathing.
7. Homer, lliad, 3.95. The letter = converts to a 6 before a vowel with rough breathing.
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Examine Dionysius Thrax.

BnAuxdy O dxted a n w v § p o Y, olov wolica EXévy xhewd yehdwy EME wiTyp
BéTic Aaiha.
o0deTépwy Ot €& a1 v p o v, olov dpua ué dévdpov Udwp démag ddpu. Twveg B¢
mpoaTiBéaat xal T o, olov &A)o.

duindv 0t Tpla’ a € w, olov &Tpelda ExTope dilw.

TANBUYTIXGY O¢ TéoTapar L o a ), olov didot ExTopes PifAia Bén.

mepl auAa .
culaPy éott xupiws cUMIS cupdwvey pete dwyievtos 7 dwvnévtwy, olov
xap Pols: xataypnoTinds 0t xal ¥ & évds dwvrevtos, olov a 1.

mepl paxpls cudap.
uaxpa cuaPy ylvetal xata Tpémous dxtw, dloel utv Tpeis, Béoel Ot mEvTe.
xal GUTEL puEv”
1. %ot 87 Qv Oi& TEY waxpv oTowyelwy éxdépntal, olov Hpws.

N g N

2. 7 6T av &yt &v TL TAY Oypbvwy xat Extadty mapadapPavépevov, oiov
b4
&png.

3. 7 81" &v & play T6v SidbSyywy, olov alas.
Oéoer o
1. #jrot 87 &v el 0o chpudwva Mjynt, olov &Ag.
2. %) 87 Qv PBpayxel 9 Bpayuvopévwl dwvievtt émdépntar o clpdwva, olov
aypos.
3. 9 87 v elg amholv cOpdwvov Mynt xal Ty €€fic Exnt amd cupdwvou
Gpxopévny, olov Zpyov.
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Examine Dionysius Thrax.

Eight consonants can end feninine things: a ‘alpha’, v ‘eta’, w ‘omega’, v ‘nu’, §
‘x1’, p ‘tho’, ¢ ‘sigma’, and { ‘pst’, for example, polica ‘Muse’, EAévy) ‘Helen’, xAeicd
‘Clio’, xeMdwv ‘swallow’, EME ‘curve’, uitnpe ‘mother’, 6étic “Thetis’, and Aaiday
‘hurricane’.

Six consonants can end reuzra/ things: a ‘alpha’; 1 ‘iota’, v ‘nu’, p ‘tho’, ¢ ‘sigma’,
and v ‘upsilon’, for example, dppa ‘chariot’, uéit ‘honey’, 0évopov ‘tree’, Uowp
‘water’, 0émag jar’, and 0dpv ‘pole’. A few end in o ‘omicron’, such as dAAo
‘other’.

Three consonants end Jou/4/e things: a ‘alpha’, € ‘epsilon’, and w ‘omega’, for
example, dtpeida ‘the Atreida’, €xtope ‘Hector’, and ¢idw ‘Philo’.

Four consonants end 7u//iple things: 1 ‘iota’, o ‘sigma’, « ‘alpha’, and » ‘eta’, for
example, didot ‘friends’, éxtopes ‘the Hectors’, fifAia ‘books’, and BéAn ‘arrows’.t

Examine the syllable.
A syllable normally joins consonants with one or more vowels, for example,
xap ‘according to’ and Polg ‘cow’.’ In certain cases, a single vowel can even
stand alone as a syllable, for example, « ‘alpha’ and 7 ‘eta’.

Examine the long syllable.
Eight syllables are considered /o7¢. Three are natural. Five are by convention.
Some syllables are long by nazure:
1. A syllable might contain an actual long vowel, for example, 9pws
‘hero’.
2. An alternate vowel might become a long vowel, for example, &p»g
‘Ares’.
3. A syllable might contain one of the vowel combinations, for example,
alag ‘Ajax’.
Some syllables are long by convention:
1. A long syllable might end with two consonants, for example, g
‘salt’.
2. A long syllable might follow either a short or shortened vowel and
two consonants, for example, dypds ‘field’.
3. A first syllable might end with an ordinary consonant, then the long
syllable might begin with another consonant, for example, £pyov
‘conduct’.

8. The prior examples end in the specified letters.
9. Bods ‘cow’ is a single word with a single syllable.
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Examine Dionysius Thrax.

4. % 67" &v dimhodv alpdwvov émidépnTat, olov £w.

5. %) 87 &v dimholiv aUpdwvov AMyn, olov dpai.
mepl Ppayelag auAa .
Bpayxeia cudalyn yivetar xata Tpdmoug dlo.
1. 7oL 81" &v & v T1 TGV dlael Bpaxéwy, olov Bpédog:

N ¢ 3 NI ¢ ~ ’ \ \ ’ ¥
2. ) 8T Av Exnt €v TL TGV Ot poOVWY xaTA TUTTOANY TapaauPavouevoy, oiov

&png.
Tepl xowijs cuMaBs.
xotvy) auMaf ylvetal xata TpoToug TPES.
1. Aot 87 &v eig dwviiev waxpdy Myt xal Ty EEFic Exnt amd dwvhevtog
&pxopévny, olov:
ol Tl pot aitly éaal: Oeol v0 pot aitiol elgw.
2. 9 87 &v Bpaxel 3} Ppayuvouévar dwvievtt émbépytar dlo chudwve, @v
6 pév dedrepov dpetdfodov, TO Ot fyoluevov xabd’ &v ddwvéy EoTw. olov:
TATPOXAE ot OEtAFL TAgloTOY xexaplopéve Bupdit.

N ¢ 5 N ~ il A~ 4 14 AR W &~ YR/ >\
3. 9 87 &v Bpaxela oboa xatamepatol eis wépog Adyou xal Ty EEFic Exnt amd

dwVNEVTOG GpyoréVNY. Olov*
véaTopa 0 obx EAabev layy) TivovTd mep Eumyg.

mepl AéEews.
&g éotl wépos EldytaTov Tod xata glvtagy Adyou.
Adyos 0¢ eaTt melfic AéEews cUvbeats didvolay adToTeldi dnAoloa.
Tol 08 Adyou uépy éativ dxTw: vopa, piina, petoxn, &pbpov, dvtwyvpia, mpdbeois,
émippnua, cUVOETLOS.
7 yap mpoonyopla ws eldog TéL dvépatt HmoBERAnTaL.

> \ ~ 3 \ ~ ~ 14
Gpyxy) TV dxTw Wepldv Tol Adyou.
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Examine Dionysius Thrax.

4. The previous syllable might end with a double consonant, for
example, €w" ‘exterior’.

5. A long syllable might end with a double consonant, for example,
apay ‘Arabs’.

Examine the short syllable.
Two syllables are considered s/o77.
1. A natural short syllable might use one of the actual short vowels, for
example, Bpédos ‘infant’.
2. A conventional short syllable might shorten one of the alternate
vowels, for example, &pyg ‘Ares’.

Examine the diverse syllable.
Three syllables are considered Jiverse.
1. One syllable might end with a long vowel, but the next begins with a
vowel. For example,

oU Tl pot aitly éool ‘The blame does not come from me’—the gods
themselves are to blame."

2. Two consonants might follow a short vowel or shortened vowel. The
second is a liquid consonant, and the first is a stop consonant. For
example,

nmatpoxAé ‘Patrocle’! He was dear to my soul today."

3. One syllable might end with a short vowel, but the next begins with
a vowel. For example,

véatopa ‘Nestora’ did not miss the shout, even though he was drinking.*?

Examine the word.
A word is the smallest unit in the organization of speech.
Speech is composed of ordinary words which make sense to an alert mind.
There are eight parzs of speech: thing, action, participle, article, substitute,
direction, qualifier, and connector.
Normally, a thing represents a class of things.
Assign every word to one of the eight parts of speech.

10. Homer, lliad, 3.164. aitiy ‘blame’ ends with a long vowel, while the next word éaai ‘come’ begins with a short vowel.
11. Homer, lliad, 19.287. The final syllable of the name matpoxAé ‘Patrocle’ fits the stated format.
12. Homer, lliad, 14.1. The final syllables of the name véatopa ‘Nestora’ fit the stated format.

Examine the short syllable. Page 557.
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Examine

Dionysius Thrax.

TEPL OVOUATOS.

Svoud EoTi uépog Adyou mTwTINGY, cdpa 7 mplyua onuaivoy, cidua wév olov Albog,
mpdyua 0t olov moudela, xowds Te xal idlws Aeyduevoy, xowds wev olov &vbpwmog
{mmog, 1diws Ot olov cwxpdTys.

mapemeTal 0 TEL Vopuatt TEVTe: Yévy, €loY, oxAuata, aplbuol, TTWIEL.

1.

YEvn wév ovv elat Tplar Gpaevixdv, BnAuxdy, c0déTepov. Eviot 0t mpoaTibéaat
ToUTOIG AAA 0V0, XOWEY Te Xl EMixovov, xoldy ey olov (mmog xVwy,
émixotvov 08 olov YEALOWY GETVS.

. €ldy) 3¢ dVo" mpwTdTUTOV XAl TAPdYyWYOV. TPWTETUTOY UV 0DV 0Tt TO

xatd THY mpWTNV Béay Aexbév, olov YHi. mapdywvov 0 T6 4’ ETépou
TV Yéveaw Eaynxds, olov yaunios. eldn Ot mapaywvwy éotly EmTd:
TATPWYUULIXOY, XTHTIXGY, TUYXPLTIXOV, UTTEPOETINOY, UToXopLoTINGY,
TPWVVILOY, PHULATIXOV.

a. TaTpwVURIXOY kEv ol €0t TO xuplws &mé maTpds EoyNuaTIopéVOY,
xaTaxpNoTIds 08 xal O &md mPoydvwy, olov mYAEldYg, alaxidns 6
ax1AAels. TOTOL 08 TRV TATPWYUIXEY GpaTevixidy uev Tpels, 6 eig
g, 6 €ls wv, ¢ el adiog, olov o’wpei&qg, c’chsiwv xal 6 T&V aloAéwy
{dto¢ TUTOG uppa&og uppa yap mais 6 mrTaxds. Gnkuxwv 0t oi ioot
Tpels, © €l i, olov mpiapis, xal 6 elg ag, olov mehids, xal 6 &g v,
olov &0pnoTivy.amd & wnTépwy o aynuatilel TaTpwvupxdy ldog 6
6unpog, AN ol vEWTEpPOL.

b. xTyTIxdy 0¢ 0Tl TO UTO THY XTHOW TEMTWRAS, EumeptetAnuuévou Tol
XTHTOPOS, olov Aot {mmot, ExTdpeos x1TwY, MAaTwYKOY BLBAiov.

Page 558.

mePL BVOUATOS.



Examine Dionysius Thrax.

Examine the thing.

A 1hing is an inflected part of speech. There are material and abstract things.
A thing might be material, for example, a stone. A thing might be abstract, for
example, education. Everything is either a class of things or a specific thing. A
c/ass includes man or horse. A specific thing includes Socrates.

A thing has five characteristics: gender, origin, composition, number, and
case.

1. Gender has three forms: masculine, feminine, and neutral. There

are two ways that things use gender: shared and unshared. Shared

gender includes inmog both ‘stallion’ and ‘mare’, xUwv both ‘dog’ and

‘bitch’. Unshared gender includes yeAidwv ‘swallow” and detés ‘eagle’.

2. Origin has two forms: basic and derivative. The /asic is the original
form, for example, y7# ‘earth’. The derivative changes the original
into something else, for example, yaijtos ‘son of earth’.”® There are
seven derivative /or72s5: ancestor, possessor, comparison, greatest,
diminutive, quality, and active.

a. A descendant uses the standard base of an anceszor. It is not
necessarily formal ancestry, for example, when those related to
Achilles are called Peleidese or Aiakidians. //a/e ancestry uses
three endings: dv¢ -des, wv -on, and adtog -adios, for example,
atpeldvs ‘Atreides’, dtpeiwv ‘Atreion’, and the form that the Aeolian
dialect uses, vppadios ‘Hyrradios’. Uppa ‘Hyrra’ was the son of
mrTaxés ‘Pittakos’. Female ancestry has three endings: There is
1 -is, for example, mpiapic ‘Priamis’. There is ag -as, for example,
mehag ‘Pelias’. There is vy -ne, for example, ddpnotivy ‘Adrestine’.
Homer does not form ancestry from females. Some ancient
authors do.

b. The possessor form relates to ownership. It names the owner, for
example, vyAniot immot ‘horses of Neleus’, éxtopeog yitwv ‘the
undergarment of Hector’,”® or mAatwvixdv fifAiov ‘the books of
Plato’.

13. Homer, Odyssey, 7.324.
14. Homer, lliad, 11.597.
15. Homer, lliad, 2.416.

Examine the thing. Page 559.
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Examine Dionysius Thrax.

f.
g.

. TUYXPITIXOV O €07TL TO THY cUYXplalg EYOV €Vog Tpds Evar bRoloyevd,

W AYIAAEDS AvOpeldTEPOg alavTog, ¥ Evds TTpog MoAAOVS ETEPOYEVELS,
W AYIAAEVS AVOPEIOTEPOS TAY TpWwY. TEY 08 TUYXPLTIXEY TUTOL Elal
Tpels, 6 eig Tepog, olov 85UTepog PpadiTepos, xal 6 el wv xabapbs, olov

¢

BeAtiwy xaldinwy, xal 6 €ig wv, oiov xpelcowy oawy.

. UmepBeTindy 0¢ 0Tt TO xatT EmiTagty £vog mpog MoAAOUS

mapalapPavépevoy v cuyxpicetl. TumoL 0¢ adTol eiot dlo, ¢ &ig TaTog,
olov d&UTatos BpadiTatos, xal 6 e Tog, olov &ploTos uéyLoTos.

. UToxoploTindy 0¢ 0Tt TO pelwoty Tol MpwToTUTOU AouyxpiTwS

dnhodv, olov dvBpwmioxog Mbag petpaxiiitov.

M
mapwvupoy O¢ €0t TO map’ Svopa moBév, olov Héwy Tpddwv.
prwatindy O¢ 0Tt TO 4md priuaTos mapyypévov, olov GLIANRwWY VoRjuLwY.

3. oxuata 0¢ dvopdatwy éoti Tpia: amioly, oUvBeTov, Tapacivietov. amAoly
UV olov péuvwy, avvBetov 08 olov dyapéuvwy, mapacivbetov 08 olov
Gyapepvovions bLummions. Tév 0¢ cuvbétwy diadopal eiot Téooapes:

a.

o o

& pnev yap adTdv elowy €x 000 Tedelwy, w¢ xetpioodog.
& 0& éx 000 ATOAEITEVTWY, WG TodOXATS.

& Ot ¢ dmolelmovtog xal Telelov, dg GLAONMLOS.

& 0t éx Tehelou xal @moleimovTog, (¢ TEPIRATS.
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Examine Dionysius Thrax.

C.

g.

A comparison compares one thing to something similar, for
example, Ajax was braver than Achilles. A comparison can relate
one thing with a group of a different gender, for example, Achilles
was braver than the Trojans. Comparisons have three endings:
There is Tepog -teros, for example, 850tepog ‘sharper ‘or BpadiTepos
‘slower’. There is the regular ending wv -on, for example, BeAtiwy
‘better’ or xaAAiwv ‘prettier’. There is the irregular ending -wv, for
example, xpelocowy ‘more’ or Aoowy ‘worse’.

. The greatest form expresses one quality over all others by

comparison. The greatest form has two different endings: There
is -tatog, for example, 6g0Tatos ‘sharpest’ or BpadiTatos ‘slowest’.
There is -7og, for example, &piaTos ‘top’ or péylotos ‘most’.

. The diminutive is when the original is made as small as possible,

for example, avbpwmioxog ‘dwarf’, Mbaf ‘pebble’; or pepaxviiiov
‘kid’.

. A gualiry shares a trait with another, for example, 6éwv ‘“Theon’®

> 17

or TpUdwy “Trypho’.
An active follows an action word, for example, ¢ptAnuwy
‘Philemon’® or voyuwv ‘Noemon’.*

3. A thing can have three compositions: plain, compound, or relation.
A plain example is ‘Memnon’. A compound example is ‘Agamemnon’.
A relation example is ‘Agamemonites’ or ‘Philippites’. There are four
compound wvariations:

a.
b.

C.

Some form from two complete words, for example, ‘Cheirisophos’.
Some form from two incomplete words, for example, ‘Sophocles’.

Some form from an incomplete and complete word, for example,
‘Philodemus’.

. Some form from a complete word and an incomplete word, for

example, ‘Pericles’.

16.
17.
18.
19.

Béwv ‘Theon' is like fetog 'divine'.
TpUdwy ‘Trypho’is like Tpidog ‘piece’.
dtAjuwy ‘Philemon’ is like p1Aéw ‘kind'.
vorjuwy ‘Noemon' is like voéw ‘intelligent’.

Examine the thing. Page 561.
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Examine Dionysius Thrax.

4.

apibuol Tpeis: Evinds: Ouinds, mANBuVTINGS: Evinds eV 6 Bunpog, Ouixds
0¢ To Ounpw, TANBLYTIRGS OF of Sunpot. elal O€ Tiveg Evixol xapaxTiipes
xal xat TOAAGY Aeyduevol, olov djpos xopds dxAos xal mAnbuvTixol
xaTq EVIX@Y Te xal Uiy, Evixdv pév ws abfjvar B7Bat, duixdv ot dg
audotepot.

. MTWOElS QvouaTwy eiot mevte: dphy, yeviny, 00Tiny, aiTiaTing, XANTLCY.

Aéyetal 08 9 wév 6phy dvopaatind) xal e0Beia, 1 08 yeviny) xTnTixn Te xal
TaTPIXY, %) OF 00TIXY EMIOTAATIX, ¥ OF aiTIaTIN)) XaT alTIaTIXNAY, 1) 0&
XANTIXY) TPOTAYOPEVTINY).

OTOTEMTwWXE 08 TG dvépatt Talta, & xal adta €0y mpooayopeveTal xVplov,
TPOTNYopLX6V, ETIBETOV, TPOS TL EXOV, WG TPOS TL EXOV, SULLVULOV, TUVWVUILOV, OLWVULOV,

a

gmwvupoy, €0vindy, épwnuatinév, abpiotov, avadopixdy 6 xal SpolwpaTixdy xal
deteTindV xal GQVTamodoTixdy xaAeltal, mepIATTINdV, Emuepl{buevoy, TepLEXTIXGY,
TMETOULEVOV, YEVIXOY, 01XV, TAXTIXOV, APIOUYTIXOY, GTTOAEAUEVOY, LETOUTIATTIXOV.

1.
2.

3.

(9)

x0pLov wev ot €aTi 10 TV 1dlay oboiav anuatvov, olov Sunpos cwxpdTys.
Tpoayyopidy O¢ €aTt TO TV xowNy odaiay anuaivov, olov dvbpwmos immos.
émifetov 0¢ €0t TO €Tl xuplwy A TpoaNyopxy dpuwvipws TIBEuevoy xal
ondodv Emawvov 7 Yéyov. Aapfavetar 6¢ Tpryds, amd Yuyiis, amd cwpatos,
amd TEY éxtés amo uev Yuyiic s cwdbpwy AxoAaoTog, A6 08 CWUATOS (S
Tax Vs Ppadls, AT 08 T@Y ExTog WG TAOVTLOG TEVYS.

. mpbe T1 Exov O¢ €TV W maTyp Vids didog de&ds.
. @g mpds TL Exov 0¢ EoTv W vUE Nuépa Bdvatos {wy).
. dutvupov ¢ EoTiv dvopa TO xaTd MOAAGY Spwvipws Tépevoy, olov éml

®ev xuplwy, wg alag 6 Tedapwvios xal aiag 6 iAéwg, EML 0¢ Tpoayyopikidv,
ws wls Badaoaoiog xal wls ynyevig.

14 | 2 ’ 3.1 \ 5 1\ ~ 3 o7 ’
. cuvavupov O¢ €aTL TO év dladpols dvdpaat T6 adTd dnhody, olov dop Eidog

uaxatpa amadn dacyavov.

. depwvupoy 0€ €0t TO Ao Tvos cupPePnxbTos TebY, we Tioauevds xal

ueyamévong.
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Examine Dionysius Thrax.

4.

There are three numbers: single, double, and multiple. Ta dunpog
‘Homer’ is single. T ounpw ‘both Homers’ is double. ot Gunpot ‘the
Homers’ is multiple. Certain collectives are spelled as if they are
singles, for example, dfjuos ‘people’, xopds ‘choir’, or dytos ‘crowd’.
Certain singles and doubles are spelled as if they were multiples,
for example, ab#jvat ‘Athenian’ and 6#Bat “Theban’ are single, but
audotepot ‘both’ is double.

. There are five grammatical ro/es: subject, possessive, indirect object,

direct object, and address. The su4jecz is the named actor. The
possessive is the owner. The indirecr object is the receiver. The action
performs on the Jirecs object. An address greets the addressee.

Things are classified by function, also called for7s: specific, class, modifier,
relative, related, homonym, synonym, double name, title, nationality, question,
indirect, reference—which is also called similarity, demonstrative, or correla-
tive, collective, distributive, inclusion, imitation, generic, individual, ordinal,
number, independent, and derivative.

1.

2.

[9)

A specific thing indicates a particular party, for example, ‘Homer’ or
‘Socrates’.

A c/uss indicates a category of something, for example, ‘man’ or
‘horse’.

. A modifier attaches to either a specific thing or a class of things with

the same declension. It can assign positive or negative characteristics
in three ways: either from the soul, the body, or other qualities.
Those from the soul include ‘moderate’ or ‘undisciplined’. Those
from the body include ‘quick’ or ‘dull’. Qualities include ‘rich’ or
‘poor’.

. Relatives include “father’ and ‘son’, or ‘friend’ and ‘right hand’.
. Relateds include ‘night’ and ‘day’, or ‘death’ and ‘life’.
. A homonym includes two different things that just sound alike. This

can include specific things, for example, ‘Ajax the son of Telemon’
and ‘Ajax the son of Oileus’. It can include categories of things, for
example, pls adacoiog ‘salt water mussel” and plic ynyevys ‘fresh
water mussel’.

. A synonym is essentially the same thing with a different name, for

example, ‘rapier’, ‘sword’, ‘dagger’, ‘sabre’, and ‘blade’.

. An cvent comes from something that happened, for example, the

revenge of Tisamenos’ or ‘the great sorrow of Megapenthes’.

Examine the thing. Page 563.
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Examine Dionysius Thrax.

9.

10.

11.
12.

13.

14.

15.

16.

17.

18.

19.
20.
21.
22.
23.
24.

diivupov O¢ Eoiv dvépata do xab’ évds xuplov Tetaypéva, olov
aAéEavopos 6 xal Tdpig, obx dvaoTpédovtos Tol Adyou: o ydp, &l Tig

& éEavdpos, obTog xal mapLS.

EmwWVupOY 0¢ 0TI, 6 xal Olwvupov xaAeitatl, To peb étépou xupiov xafb’
€vdg Aeyoduevoy, wg evoaixBwy 6 mooelddy xal doifog 6 GméAAwy.

€Bvixdv O¢ €aTL TO E€Bvoug IAwTnd, ds dpE yaddTyg.

EpWTNUATIXOV OF E0TLY, & xal TEVTTIXOY xadelTal, TO xat EpuTyoty
Aeybuevov, olov Tis moiog méaog TyAixos.

GpLoTov O¢ 20Tt TO T EpwTUaTINGL EvavTing Aeyduevov, olov SaTig
6molog 0ToT0g OTNAIXOS.

avadopixdy 0¢ T, 8 xal 6VOLWUATIXOV xal OEIXTIXOY Xal AVTATO00TIROV
xaeltat, T dpolwaty anuatvov, olov Totoditos TocodTog THAolTos.
TEPIMTTINOV O¢ €0t TO TAIL Evixdit GplBudit mAFBog anpatvov, olov dfjuos
X0pOs BYA0S.

émipept{bpevov 0¢ EaTL TO €x O¥0 1) xal mAedvwy éml Ev Exov TV dvadopdy,
olov éxdTepos ExaaTog.

TePLEXTINOV O¢ €0TL TO éudaivov év EquTElL Tt TepLeXSuLevo, olov dadvwy
mepbevav.

TETONUEVOY OF E0TL TO Tapl TAG TEY Axwy I016TNTAS UNTIRGS ElpniLEvoy,
olov dAoiofog poilos dpuymadds.

yevixdv 0¢ EoTi T Suvdpevov el ToAAL eldn dtapebijvar, olov {Bov duTév.
i0uxdv 3¢ ot T éx Tol Yévoug dtatpebév, olov Polis Immog dumedos Elala.
TaxTiedy 0¢ €0t TO TdEw Inholv, olov mpdiTog dedTepos TpiTog.
GpibunTidy 0¢ Eott TO dpiBdv anpaivov, olov elg dVo Tpels.
dmoleAvpévoy ¢ Eotiv 6 xafb’ Eautd voeitat, olov Beds Adyos.
LETOVTLRaTIXNY O¢ E0TL TO neTéyov obotag Tdg, olov mptvog dplivos
ghaduvos.

ToU 08 dvdpatog diabécels eial dvo évépyeta xal mabog: évépyeta wev (s xpITng 6
xpivwy, Tabog 0F g xpLTAS 6 XPLVOKLEVOS.
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Examine Dionysius Thrax.

10.

11.
12.

13.

14.

15.

16.

17.

18.

19.
20.

21.

22.

23.
24.

. A double name is when two different names apply to the same thing,

for example, if ‘Paris’ happens to also be ‘Alexander’. This principle
does not apply in reverse. Just because someone is named ‘Alexander’
does not require that he is necessarily also ‘Paris’.

Some also call a title a second name. A 77/ is when someone has two
specific names, for example, ‘Poseidon the Earth-shaker’ or ‘Apollos
the Pure’.

A nationality indicates ethnicity, for example, ‘Phrygian’ or ‘Galatian’.
A qguestion, which they also call an interrogative, is when someone
requests an answer, for example, ‘who?’, ‘what kind?’, ‘how many?’, or
‘how much?’

An indirect issues an indirect question, for example, ‘whoever’,
‘whatever’, ‘as many as’, or ‘however big’.

Some call a r¢ference a similarity, demonstrative, or correlative. It
indicates a comparison, for example, ‘such as’, ‘so much as’, or ‘as big
as’.

A collective indicates that one thing represents many, for example,
‘people’, ‘choir’, or ‘crowd’.

A distributive refers to two or more things that apply individually, for
example, ‘each personally’ or ‘each’.

An inclusion indicates its contents within itself, for example, ‘a laurel
grove’ or ‘a young women’s dormitory’.

An imitation makes a sound like itself, for example, dAoloPos ‘roar’,
poilos ‘whizz’, or épuypadés ‘murmur’.

A generic categorizes many things, for example, ‘animal’ or ‘plant’.
An individual separates a member from the generic, for example,
‘horse’ from ‘cattle’, or ‘olive tree’ from ‘vine’.

An ordinal specifies a particular order, for example, ‘first’, ‘second’, or
‘third’.

A number indicates quantity, for example, ‘one’, ‘two’, or ‘three’.

An independent exists independently, for example, ‘god’ or ‘logic’.

A derivative shares in the substance of another thing, for example,
‘fiery’, ‘wooden’, or ‘deer-like’.

A thing can have two agencies: active or passive. The udge’ who chooses is
active. The ‘accused’ is passive.

Examine the thing. Page 565.
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Examine Dionysius Thrax.

TEPL PYUATOS.
plind goti Aé&is dmTwTos. EMIExTIN XpoVWY TE xal TPosTwy xal Gplbuév.
gvépyelay ¥ mabos maplotioa.
mapémeTal 08 TAL pRuatt dxtw: éyxAioel, dabécels, €loy, oynuata, ptbuol,
npbowna, xpévot, culuyiat.

1. éyxioeis uv oty eloL mévte: SploTIN, TPOTTAXTLN, EVXTLXN,
OTOTAXTIXNY), ATapEudaTos.

2. dabéaeis elal Tpels: vépyeia, mabog, ueadryg. évépyeta pwév olov TUMTW.
ndfog 3¢ olov TUTTOpAL. HETSTYS OF M) ToTE v évépyetay mott 3¢ mdbog
maploTion. olov mémnya diEbbopa émomaduny Eypalduny.

3. €0y 3¢ d¥o* mpwTdTUTOV XAl MAPdYWYOV. TPWTSTUTOV UtV olov dpdw.
Tapdywyov 0t olov dpdelw.

4. oyfpata tplar amholv, cvbeTov, mapaaivletov. dmholv wev olov dpovd,.
avBetov 8¢ olov xatadpové. mapaaivletov 3¢ olov dvtiyovilw dilimmilw.

5. &ptbpol Tpeis: Evixds, duixds, mANBuYTIXGS. Evixds wev olov TUTTw. duixds
0t olov TOmTETOV. MANBUVTIROS 3¢ olov TOTTOWEY.

6. mpwcoma Tpie mpdiTov, deUTEPOY, TpiTOV. MPATOV WEV &’ 0D 6 Adyos.
delTepov O mpds B 6 Adyos. TpiTov O¢ mepl 00 6 Adyo.

7. xp6vol Tpels: EveaTws, TapeAn vbug, LéALwy. ToUTwY O TapeAnAubig
gxel Oladopas TETTRpAgT TAPATATINGY, TAPAKEIUEVOY, UTEPTUYTEALIXOY,
GoplaTov.

8. wv quyyévela Tpels: éveaTdTog MPdS TapaTaTINGY, TAPAXELULEVOU TTPOS
UTTEpaUYTENLXOY, QopIaTOV TPOG LEANOVTA.
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Examine Dionysius Thrax.

Examine the action.

An action does not inflect case. It can inflect tense, person, and number. It
can represent both passive and active agency.

An action has eight c/aracteristics: mood, agency, origin, composition, num-
ber, person, time, and relation.

1.

There are five 700ds: statement, order, wish, possibility, and
impersonal.

. There are three agencies: active, passive, and middle. An aczive

example is TUmTw Thit’. A passive example is TOmTopar ‘I was hit’. The
middle can sometimes represent active action and sometimes a passive
action, for example, mémnya ‘I have solidified’, diédpbopa ‘I have been
ruined’, émomaauny ‘I made for myself’, or éypapauyny ‘I took notes’.

. There are two origins: basic and derivative. A basic example is &pdw ‘I

water’. A derivative example is dpdevw ‘I water crops’.

. There are three compositions: plain, compound, and relation. A plain

example is dpovéd I think’. A compound example is xatadpovéd 1
condescend’. Relation examples are vtiyovi{w ‘I ally with Antigonus’
or dptammilw ‘T ally with Philip’.

. There are three numbers: single, double, and multiple. A single

example is TUmTw T hit’. A double example is TOTTeTOV ‘both hit’. A
multiple example is TUmTopey ‘we hit’.

. There are three persons: first, second, and third. The first person is

the narrator. The second person is the recipient. The third person is
some other party under discussion.

. There are three 7/me¢s5: present, past, and future. The past has four

variations, including imperfect tense, perfect tense, pluperfect tense,
and aorist tense.

. Tense has three re/ations: the present tense relates to imperfect tense,

the perfect tense relates to pluperfect tense, and the aorist tense
relates to future tense.”

20. Although Dionysius does not state what the relationship is, it clearly is the form of the stem. Augment and personal endings are
attached to a common stem for these pairs.

Examine the action. Page 567.
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Examine conjugation.

Action conjugation follows inflection.
Actions have no accent on the final syllable in six situations:

1.

7.

Some actions end with -f- ‘beta’, -¢- ‘phi’, -m- ‘pi’, or -nr- ‘pi taw’, for
example, Aeifw ‘T pour’, ypadw I write’, Tépmw ‘T enjoy’, or xémtw ‘I

b

cut.

. Some actions end with -y- ‘gamma’, -x- ‘kappa’, -x- ‘chi’, or -xt-

‘kappa tauw’, for example, Aéyw ‘I speak’, mAéxw ‘I twist’, Tpéxw I run’,
or TixTw ‘I bear’.

. Some actions end with -0- ‘delta’, -6- ‘theta’, or -7- ‘taw’, for example,

&1ow ‘I sing’, mAnbo ‘I fill’, or aviTw T effect’.

. Some actions end with -go- double ‘sigma’, for example, dpalw ‘I

point out’, vigow ‘I prick’, or dpvoow ‘dig’.

. Some actions end with one of the four liquid consonants, -A-

‘lambda’, -p- ‘mu’, -v- ‘nu’, -p- ‘tho’, for example, maAAw ‘I swing’,
vépw ‘I pay’, xpivw ‘I judge’, or omelpw ‘I sow’.

. Some actions end with nothing before the -w ‘omega’, for example,

irmedw ‘T ride’, mAéw ‘T sail’, or faciiedw T rule’.
Some also include actions that end with a -&- ‘xi’ or -{- ‘pst’, for
example, dAééw ‘I turn aside’, or éyw ‘I boil’.

Actions have a circumflex accent on the final syllable in three situations:

1.

2.

3.

Some actions have the vowel combination et ‘epsilon iota’ in the
second and third person, for example, voé ‘I think’, voeis ‘you think’,
and voel ‘he thinks’.

Some actions have the vowel combination at ‘alpha iota’, for example,
Boé ‘I shout’, Bodiis ‘you shout’, and Poét ‘he shouts’.

Some actions have the vowel combination ot ‘omicron iota’, for
example, ypvad ‘I cover with gold’, xpuaols ‘you cover with gold’, and
xpvool ‘he covers with gold’.

Actions end with -ut ‘mu iota’ in three situations:

1.

Some actions are like the first that ends with a circumflex accent.
The stem 7168 ‘I set’ becomes Tifnw I set’.

. Some actions are like the second. The stem ioct& ‘I stand’ becomes

oty I stand’.

. Some actions are like the third. The stem 0106 ‘I give’ becomes didwwt

1 give’.

Examine conjugation. Page 569.
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4. Some actions are like the sixth of those ending with an unaccented
syllable. The stem mnyviw ‘I fasten’ becomes mnyvupt ‘I fasten’.

Examine the participle.
The participle is a word that shares features of an action and a thing. It has
the function of both a thing and an action, but does not inflect person or mood.

Examine the article.

An article is an inflected part of speech. It can precede or follow an associ-
ated thing. The article 6 ‘the’ precedes. The relative substitute 65 ‘who’ comes
after.

They have three c/araczeristics: gender, number, case.

1. There are three genders: 6 mowtng ‘the author’ (masculine), % moinaig
‘the composition’ (feminine), and 70 moinua ‘the poem’ (neutral).

2. There are three numbers: single, double, and multiple. The single
form is the masculine 6 ‘the’, the feminine 7 ‘the’, and the neutral 76
‘the’. The double form is either masculine or feminine tw ‘the’, and
the neutral ta ‘the’. The multiple form is the masculine oi ‘the’, the
feminine «ai ‘the’, and the neutral ¢ ‘the’.#

3. The masculine and neutral cases of the article include the subject 6
‘the’, the possession 7o ‘the’, the indirect té: ‘the’, the direct v
‘the’, and & ‘the’. The feminine cases of the article are the subject %
‘the’, the possession 77 ‘the’, the indirect 77t ‘the’, the direct v ‘the’,
and the address & ‘the’.

Examine the substitute.

A substitute is a word that replaces another thing. It inflects by person.

A substitute can have six characteristics: person, gender, number, case,
composition, and origin.

The personal substitute is the base: éyw T, a0 ‘you’, and 1 ‘he’. The possessive
substitute derives from the personal: éuds ‘mine’, oés ‘yours’, and & ‘his’.

The personal substitute does not inflect gender. It just references the per-
son, for example, éyw ‘T. The possessive substitute does inflect gender: the
masculine 6 éués ‘me’, the feminine 9 éun ‘me’, and the neutral 70 uov ‘me’.

The personal substitute inflects number. Single is éyw ‘T, a0 ‘you’, and 1 ‘he’.
Double is véi ‘both of you’ and adéi ‘both of them’. Multiple is uels ‘we’, Opeis
‘you all’, and o¢eis ‘them’.

21. Each number is ordered by gender, first masculine, then feminine, and finally neutral, if at all.

Examine the participle. Page 571.
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14

The personal substitute inflects case. The subject is éyw T, o0 ‘you’, and ¥
‘he’. The possessive is éuo ‘mine’, ool ‘yours’, and ol ‘his’. The indirect object
is éuol ‘to me’, gof ‘to you’, and of ‘to him’. The direct object is ¢ué ‘me’, o¢ ‘you
and € ‘him’. The address is o0 ‘you’.

The possessive substitute has two composizions: plain and reflexive. The p/ain
form is éuo¥ ‘mine’, ool ‘yours’, and o¥ ‘his’. The reffexive form is épavtol ‘my-
self’, cavutol ‘yourself’, and adTol ‘himself’.

As for origin, some are just ordinary personal substitutes, éyw ‘I, g0 ‘you’,
and 1 ‘he’. Every possessive substitute derives from some original form. They
call them alternate personals. They derive like this: The singular specifies one
owner, so éuol ‘my’ comes from éuog ‘mine’. The double represents two owners,
so vwiTepos ‘both of yours’ comes from véi ‘both of you’. The multiple represents
many owners, so Nuétepos ‘ours’ comes from Auels ‘us’.

The substitute can appear without the article, or with the article. For ex-
ample, éyw ‘I’ does not have the article, but 6 éués ‘mine’ does.

Examine the direction.

A direction is a word placed before another part of speech. Categorize a direc-
tion by internal composition and relationship with other words.

There are a total of eighteen directions. There are six directions with one
syllable: v ‘in’, ei¢ ‘into’, €€ ‘out’, clv ‘with’, mpd ‘before’, and mpés ‘to’. They
do not appear in reverse order. There are twelve with two syllables: ava ‘up’,
xata ‘down’, oia ‘through’, uera ‘after’, mapa ‘beside’, Gvti ‘against’, émi ‘on’, mepl
‘around’, audl ‘both’, émé “from’, vmé ‘below’, and vmép ‘above’.

Examine the qualifier.
A qualifier is a part of speech that does not decline. A qualifier modifies an
action or is attached to an action:

1. There are pluin and compound qualifiers: madat ‘long ago’ is plain, but
nmpomaat ‘a really long time ago’ is compound.

2. Some express ‘i, for example, viv ‘now’, téte ‘then’, and albig
‘again’. Some specify particular occasions, for example, anuepov
‘today’, alptov ‘tomorrow’, Tédpa ‘meanwhile’, Téws ‘until then’, and
myvixae ‘at that time’.

3. Some express manner, for example, xalés ‘well’ and coddis ‘wisely’.

4. Some express a guality, for example, 0§ ‘fiery’, A& ‘on foot’, Botpudéy
‘clustered’, and &yeAnddv ‘by herds’.

Examine the direction. Page 573.
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10.

11.
12.

13.

14.
15.

16.

17.

18.

19.
20.

21.

22.

23.

. Some express guantity, for example, moAAaxis ‘often’ and SArydxig

‘seldom’.

. Some express frequency, for example, 0ig ‘twice’, Tpig ‘three times’, and

TeTpaxts ‘four times’.

. Some indicate /ocation, for example, &vw ‘up’ and xatw ‘down’.

These include three types: in a place, toward a place, from a place,
corresponding to ofxot ‘at home’, oixade ‘to home’, and otxofev ‘from
home’.

. Some express a wish, for example, elbe ‘wish that?, aibe ‘would that?’,

and dPaAe ‘oh that!’

. Some express frustration, for example, mamatl ‘what?’, iod ‘uh uh?’, and

¢el ‘phew!’

Some express denial or negation, for example, ol ‘not’, o0yl ‘no’, ovofjTa
‘nothing’, and o0dapés ‘in no way’.

Some express agreement, for example, val ‘it is’ and vaixt ‘yes’.

Some express probibition, for example, uy ‘may not’, unosjta ‘none
may’, and pundauds ‘may in no way’.

Some express a comparison or simile, for example, &g ‘as’, domep ‘even
as’, nite ‘like’, and xabdmep ‘just like’.

Some express surprise, for example, BaBal ‘what!’

Some express an order, for example, iowg ‘equally’, Taxa ‘quickly’, and
Tuyov ‘fortunately’.

Some express organization, for example, é&fjc ‘outside’, édetfic ‘in a
row’, and ywpls ‘without’.

Some express a collection, for example, &pdyy ‘utterly’, dua ‘all at once’,
and #Aba ‘very much’.

Some express an invitation, for example, ela ‘away!” &ye ‘come on?’
and ¢épe ‘bring it!’

Some express a comparison, for example, p&Alov ‘very’ and frrov ‘less’.
Some express a guestion, for example, mébev ‘when?’, myvixa ‘where?’,
and mé¢ ‘how?’

Some express emphusis, for example, Aav ‘very’, cpédpa ‘very much’,
mavu ‘altogether’, &yav ‘too much’, and pdAiota ‘most of all’.

Some express a conjunction, for example, dua ‘at the same time’, opod
‘in common’, and &pudis ‘all together’.

Some express a denial, for example, ud ‘I swear not’.

Examine the qualifier. Page 575.
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26.
27.
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24. Some express an affirmation, for example, v ‘I swear yes’.

25. Some express a guaranice, for example, onAaoy ‘clearly, of course’.

26. Some express an o4/igation, for example, yauntéov ‘must marry’ and
mAeuaTéoy ‘must sail’.

27. Some express a superstitious frenzy, for example, ebol ‘hey!” and edav
‘ahal’

Examine the connector.
A connector is a word that joins separate thoughts in order. It relates concepts.
The 7ypes of connectors include: continuation, choice, supposition, implica-
tion, cause, tentative, inference, and filler:

1. A continuation connects topics that can go on continously. They
include: ‘on the one hand’, ‘on the other’, ‘both’, ‘and’, ‘but’, ‘one’,
‘another’, ‘then’, ‘nevertheless’, ‘besides’, ‘now let me tell you’, ‘would
not’, and ‘would’.

2. A choice connects many phrases, separating one alternative from
another. They include: ‘or’, ‘or let me tell you’, and ‘whether"’.

3. A hypothetical connects what is not certain with what might follow.
They include: ‘if’, ‘if indeed’, and ‘when indeed’.

4. An implication clarifies reality and order. They include: ‘since’, ‘when’,
‘whereas’, and ‘surely’.

5. A cause provides an explanation, responsibility, or reason. They
include: ‘in order that’, ‘that’, ‘how’, ‘on account of’, ‘wherefore’, ‘on
which account’, ‘for what reason’, ‘according to which’, ‘according to’,
‘inasmuch as’, and ‘as far as’.

6. A rentative raises doubt. They include: ‘then what?’, ‘and then?, and
‘surely not?’

7. An inference demonstrates the concluding proof by what follows. They
include: ‘as it seems’, ‘still’, ‘but truly’, look now’, ‘look here’, and ‘so
look’.

8. A filler is inserted for rhythm or meter. They include: ‘at this point’,
‘then’, ‘now’, ‘how’, ‘look you’, ‘finally,” ‘so’, ‘indeed’, ‘very much so’,
‘where’, ‘truly’, ‘again’, ‘now’, ‘therefore’, ‘would not’, and ‘at least’.

9. Some also would include opposizion, for example, ‘all the same’ and
‘likewise’.

Examine the connector. Page 577.
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